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Rather, actually; anything that was picked - upbaT 9o EWY RON

Overview

The X713 now retracts and says that since 1171 "1 maintains 7772 X, we must say
that the o°v11¥ declared ‘anything which was picked, will be redeemed with these
monies’. MO0 reconciles the views of 1111 .

mooin asks:
= 119592 13N9% %299 115D 1T 1IN 229N 1IN 2297 NYPN N2V 1329 NYPN

v'9 asked there is a contradiction from >''3 on '3, for "9 generally does not

maintain 779592, as is evident from his ruling regarding 17 mMmP> P2 PR and 522 191 T -
= 119992 DD HNRT 9INM 2295 INPIYNHA PNNNN DNDI NIYMN DNV NIDN 1IN 239 9N

However °''% maintains universally that the ruling is like an anonymous 71w,
and the mw» ano regarding the case of 0°M>n 1 1 API® rules like »'2 who
maintains 779593 ©v° —

MooIN anticipates a possible resolution to this question:
= 119993 Y 590 209I8T NHNDAT 2) DY 4N)

And even though that the m1wn ane of 2y disagrees with 779993, so we can say
that " follows that m1wn ono —

mooIn rejects this solution:
= NIND YNNN NHPND INNT NMIVIN NN NYPH DIPN Yon

Nevertheless the difficulty remains, why is this 71wn ano of o°v11¥ stronger than

this 71wn ano of 1 npon?! The question remains, why does > maintain 77°32 7R despite the
fact that the maw» ano of 1 P17 indicates that 77972 w»!

mooin offers a possible answer:

! Our X713 cites the Xn*>2 of M7 1 1> 127 in which there is a dispute between »"3 and w"1>"1>"1. However the
TIwn in " "D RMT 'on just cites anonymously the view of n"1 that 7772 w. According to *"7, who maintains
universally that 7awn ono> 1377, the 71577 should be that 79°72 w» as indicated in this 7awn.

2 See previously on the 'R 7Y that the 2¥11% (who did not want people to transgress the prohibition of eating *¥27 a1
outside 0°7w17) would redeem the >¥21 o72. This could have been done by them proclaiming in the morning that
whatever will be picked today by the passersby shall be exchanged (9711) on these monies. The advantage of doing
it in this manner is that the Mo are still in the N~ of the owner. The disadvantage is that for the 917°11 to be effective
we need to rely on 77°12. It could also be done by saying at the end of the day whatever was picked today shall be
9911 on these monies. The advantage is that we do not require 777°2 (since they we already picked). The disadvantage
is that the owner is 991 the m°5, which are no longer in his mwA. The mwn chose the latter option of VP27 75
(whatever was gathered), since the 71wn maintains 7772 1R, so the former option is untenable.
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And perhaps we can say on behalf of ' that in a case where he stipulates
explicitly, °''7 does not maintain 779592 PR —

maoIn anticipates an additional difficulty:
= 119592 PPNRT OIVN DD 1N PINK GN 13N 939 9IRPT cow) VIN U3 Y92

And in the beginning of ©37 %2 P15, where 3''1 ruled even the last case does not

invalidate her from 711772, because the ruling is 779992 J°R, even though there was a
specific stipulation made initially (just like by 1> Y21 [where we say 7712 w°]) —

mooIN responds:
= NN NYYA 9930 NINY T8 NYIYW YRYNT N AN 39NIT ONN IINY

There (by a v3) it is different, for it is written 7% 2n21 (and he shall write for her),
which indicates that there is a necessity that it should be defined at the time of

the writing, therefore by v3 we do not say 7712, even if it was explicitly stipulated -
102N Y9 YWY YNNIV NS

As it is stated explicitly in the beginning of w7 %3 p7o.

Summary
73mM° 7 maintains 77°72 X where initially there was no explicit stipulation; where he

was ¥17°02 71nn, there seems to be a dispute in the n1awn, except for a vi where we
say 771°2 K.

Thinking it over

The x23 here asked how can 1am* ' say vp2nnn 95 (in the future) which means w°
77°73, when °"9 maintains 7772 PR (by 20w 1iRa). However according to msoin
what is the question since by vp?nnn %3 he was w171°92 7ann but not by ponw Prra?!’

3 The nawn of 1 n771 which maintains 77712 @ is in a case where the person initially stated explicitly, ‘the wine which
I will draw out later should be »™1n’; in that case, " (possibly [see footnote # 4]) agrees that 7712 @, since there
was an explicit stipulation. It is only in a case of p7nw 11X, where no stipulation was made initially that he should
acquire whichever part he will eventually receive, does "1 maintains 77772 PX.
45" maintains 77°12 PX when there was no initial stipulation (like W>nw 1rixi7). However where there was an initial
stipulation, the N11wn argue. 1> MP127 maintains 77°72 ¥°, and the 71w of 2°v1I¥ maintains 77°72 X (therefore it cannot
be in a case where he says, ‘whatever they will pick’).
5 X,70. The mwn (on 2-8,77) mentions various cases where the divorce is invalid. The last case is where a person (who
had two wives with the same names), told a scribe, ‘write a v to whichever wife 1 will decide later to divorce’, it is
invalid. There is a dispute there whether a woman who received one of these invalid divorces is prohibited to a 37,
since she received a bill of divorce. 7371 " maintains that even in the last case she is not 7117397 12 nbo91, for since the
rule is 77" TR, it is no VA at all.
S9PRY 7" 7N 2,70 or X,710 in the 8713 which states 7awS % 117927 191 9" 0Kp K.
7 See R"wAnn.
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